LMMMU'J‘J‘J‘JJ‘A\!!M

OO

HYw T F—=—N—YYA X
+0.1 +0.2 +0.3 +0.6
© BRBEHRAYF(ESF FAYF)OMIMIRETT

© MBIXE/NFOHLNARBTIHEFREICBATWET
O —ifl. Kz, €M LEIC/ FELMI - #iHmTH

e A

1D

Type A ° Type B " Type C ° Type D o
+ |
—Ee== = qj\i — =D @ 1—.__;_—,__% Q G - F —=F @Y
) ‘ Kef— — ke L e l L ¢ | —waf—
[ e . - L . ] _|
HSSIA\VEAYT A—n—H 414X +0.2
K Rkt &

FEU B ft & B ft & . T 2 d K n |
M6X1.0 f(#2) [HHO0O60M2+0.2 | E(#3) |HHOO60M3+0.2 A 61 24 6 4.5 7 3 1,780
M8X1.25 f(#2) [HHOO80N2+0.2 | E(#3) |[HHOO80ON3+0.2 C 70 30 6.2 5 8 4 2,660
M10X1.5 f(#2) [HHO10002+0.2 | E(#3) |[HHO10003+0.2 C 75 32 7 5.5 8 4 3,380
M12X1.75 f(#2) [HHO120P2+0.2 | E(#3) |[HHO120P3+0.2 C 82 38 8.5 6.5 9 4 4,720
M16X2.0 t(#2) [HHO160Q2+0.2 | F(#3) |HHO160Q3+0.2 C 95 45 12.5 10 13 4 8,620
HSSI\VKAYT A—in—H A4 X +0.3

R4k Wikt

Y ® ft = ® ft n & Type T 2 d K ) B |
M8X1.25 fi(#2) [HHOO80N2+0.3 | E(#3) [HHO080N3+0.3 C 70 30 6.2 5 8 4 2,660
M10X1.5 fi(#2) [HHO10002+0.3 | E(#3) [HHO10003+0.3 C 75 32 7 5.5 8 4 3,380
M12X1.75 ti(#2) [HHO120P2+0.3 | E(#3) [HHO120P3+0.3 C 82 38 8.5 6.5 9 4 4,720
M16X2.0 fi(#2) [HHO160Q2+0.3 | E(#3) [HHO160Q3+0.3 C 95 45 12.5 10 13 4 8,620
M20X2.5 fi(#2) (HHO200R2+0.3 | E(#3) ([HHO200R3+0.3 C 105 | 50 15 12 15 4 15,390
HSSI\VEAYT A—n—H3 414X +0.6

K R4kt i

FEU B ft & B ft & e T 2 d K n EmH
M12X1.75 fi(#2) [HHO120P2+0.6 | E(#3) [HHO120P3+0.6 C 82 38 8.5 6.5 9 4 5,050
M16X2.0 fi(#2) [HHO160Q2+0.6 | E(#3) [HHO160Q3+0.6 C 95 45 12.5 10 13 4 9,240
M20X2.5 t(#2) [HHO200R2+0.6 | F(#3) |[HHO200R3+0.6 [¢] 105 | 50 15 12 15 4 16,480
HSSR/IASIWEYT A —in—H5 (X +0.1

itk MRt &

Y nE Type 7B T 2 F n on K 2 B ki3
M6X1.0 HSO060M+0.1 B +0.1 61 19 6 27 4.8 4.5 7 3 2,100
M8X1.25 HSO080N+0.1 D +0.1 70 22 6.2 30 5.9 5 8 3 3,050
M10X1.5 HS01000+0.1 D +0.1 75 24 7 34 6.7 5.5 8 3 3,860
M12X1.75 |[HSO120P+0.1 D +0.1 82 29 8.5 41 8.2 6.5 9 3 5,380
M14X2.0 HS0140Q+0.1 D +0.1 88 30 10.5 44 10.1 8 11 3 7,370
M16X2.0 HS0160Q+0.1 D +0.1 95 32 12.5 47 12.1 10 13 3 9,770
M18X2.5 HSO180R+0.1 D +0.1 100 37 14 52 13.5 11 14 3 13,440
M20X2.5 HSO200R+0.1 D +0.1 105 37 15 54 14.5 12 15 3 17,440
HSSAR/NALSIWEYT A —/n—H A4 X +0.2

R Rk

U o & Type WE L 92 d Ln Dn K k@ iadia Lk
M8X1.25 HSOO080N+0.2 D +0.2 70 22 6.2 30 5.9 5 8 3 3,050
M10X1.5 HS01000+0.2 D +0.2 75 24 7 34 6.7 5.5 8 3 3,860
M12X1.75 [HSO120P+0.2 D +0.2 82 29 8.5 41 8.2 6.5 9 3 5,380
M14X2.0 HS0140Q+0.2 D +0.2 88 30 10.5 44 10.1 8 11 3 7,370
M16X2.0 HSO0160Q+0.2 D +0.2 95 32 12.5 47 12.1 10 13 3 9,770
M18X2.5 HSO180R+0.2 D +0.2 100 37 14 52 13.5 11 14 3 13,440
M20X2.5 HSO200R+0.2 D +0.2 105 37 15 54 14.5 12 15 3 17,440
M22X2.5 HSO220R+0.2 D +0.2 115 38 17 55 16.5 13 16 4 22,460
M24X3.0 HS0240S+0.2 D +0.2 120 45 19 62 18.5 15 18 4 28,180

32 R GIIANYS




	スライド 1: タップ オーバーサイズ 　

